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'IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD

CHECK THAT THIS BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING

PAGES OR ITEMS ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY BE

IN THE APPROPRIATE PLACE. G »

You have to enter your Roll Number on the Test Booklet in the Box provided at the top. DO NOT
write anything else on the Test Booklét: o

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
except for Questions relating to English Language Comprehension which: are in English only. Each
item comprises four responses (answers). :You will seleet the response which you want to mark on
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will be deducted as penalty. ' . A

(@)  If a candidate gives more than one answer, it will be treated as a wrong answer even if
one of the given answers happens to be correct and there will be same penalty as above for
that question. :
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IS NOT ALLOWED.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO Sso

Note : Hindi version of the instructions is printed on the back cover of this Booklet.

e § oo w1 R ww e @ fed 7e w e §



nvesti 000. After 3
1 Ram, Mohan and Sohan start a business each investing Rs. 16,

invests
months Ram withdraws Rs. 2,000, Mohan withdra®s Rs. 4,000 and Sohan

de. Then
Rs. 8,000 more. At the end of the year a profit of Rs. 41, 580 was A

Ram’s share is

(A) Rs. 12,000 () B 12,180

(C) Rs. 12,480 | (D) Rs 12,880

T, A W W T 16,000 % akﬁawmmwzwm%um

TR T T 2,000 7. P & e 4,000 F PO € 39 W 8,000 7. &
Fow T 31 W S o A 41580 7 a9 o &1 T W e R

(4) 12,000 *. - (B) 12,180 .
(€) 12,480 D) L8E
2. Ramchandani decided to donate 16 percent of his salary. On the day of donétion,

he chaﬁged his mind and donéted Rs. 4,320 which was three-ﬁfth of what he

had decided earlier. Then \Ramchandani’s salary is :
(4) Rs. 44000 (B) Rs; 45,000
OB 4000 D R 4100 |
Wﬁwammé%mWWﬁvhém%nmﬁwmmm
W T AR T 4,320 % T F & N Y5th ¥ TW oW F AR S TR T
W Fo o ) T TR A g
(A) 44,000 . (B 45000 %

(C) 46,000 . D) 47,000 ¥
TBC : 24/ECPMI—A 9



Pure milk : .
1% costis Rs. 20 per liter. After adding water, the milkman sells the

mixture at :
at the rate of Rs. 18 per leter, thereby making a profit of 25 percent.

In what ratio does he mix the two ?

(A) 18 : 7 (B) 18 : 5
© BT D) 12 :5

AS T F T 20 T 9 ofex ¥ O Prem @ 9w, g 5w faemed gw w

18’6.uﬁrﬁam%aﬁi%uﬁﬁqum%lma@mﬁ%iﬂaﬁtﬁ
=1 fhemar & 2 P |

(A) 18 : 7 " (B) 18:5
© 12:7 D 12:5

4. The difference between simple interest and compound interest on a certain sum
of money for two years at 5 percent per annum is Rs. 10. Then the sum is:
(A) Rs. 4,000 | (B) Rs. 4,200
(C) Rs. 4,600 ‘ (D) Rs. 4,800

5 wfaerd # g Q 4 9 & fau e fivea ufn & wumre = qon wswhafs =™
F s=R 10 T %1 99 = ffew i ¥

(A) 4,000 % (B) 4,200 =

(C) 4,600 %. (D) 4,800 <.
TBC : 24/ECP/II—A 3 P.T.O.



Moolchand faces towards North. Turning to his right, he walks 25 meter. He

then turns to his left and walks 30 meter. Next, he moves 25 meter after turning

- to his right. He then turns to his right again and walks 55 meter. Finally,

he turns to the right and moves 40 meter. In which direction, he is now from

his starting point ?

| (A) South-West (B)- South

TBC :

(C) North-West (D) South-East .

Wﬁfﬁéwmﬁ%lﬁm‘www%ﬁ.m%lmﬁ
T WE T ¥ AR 30 W W ¥ o o wn ww e 25 . W ¥ 9w
TR T Wh qeH 55 0. S | sy, 98 Tl T g 40 . =TT
%lmagmamﬁg%m%mﬁ% ?

(A) Tferor-ufy=m (B) <faor

(C) ScrR-ufysm ' D) e

The cost of lighting 200 bulbs for 6 days for 4 hours everyday is Rs. 40. How

many bulbs can be hghted for 15 days for 3 hours everyday at the cost of
Rs. 48 ?

(A) 120 bulbs (B) 128 bulbs

(C) 136 bulbs (D) 144 bulbs
Waﬁmoa@aﬁaﬁmmﬁaﬁ 6 7 & 4 w2 & faw 40 = 2 15
fedt # 3 w2 wom a1 whify 48 @ F A T R wow @iy 2

(A) 120 o= (B) 128 wew

(C) 136 scw D) 144 s

24/ECP/II—A g



7. The number of triangles formed by 11 points (out of which 5 points are collinear)

in a plane, is :

@) 165 B) 175

© 155 (D) 145

11 frgal (R 3 5 forg it ) 3 9% ol o wom 4 ¢
(A) 165 (B) 175

(©) 155 | D) 145

8. In the places of last two digits of a fhree digit number are interchanged, a
new number is obtained which is greater than the original number by 54. The

difference between the last two digits of that number is : -
(NI ... B 4
- (C) 6 ‘ - - .0 (D) 8
i 3Tl e e § w9 ofF o # 9w W ¥ Ok w T den R
%a‘tﬁwﬁmé&m%m&ﬁw%%ﬂﬁﬁﬁﬁm% :
(A) 2 @B 4
(©) 6 o ) I
0. If’a2+i2=98 (@ >0), then the value of 03+l3 fs :
: a a
(A) 525 | . - ® 70
(©) 870 | D 970
1 | s 1
gfe a2+—2-=98(a>0), @ ¢ +— FH A T .
‘ - a ' a
4) 525 (B) 770

(C) 870 D) 970

TBC : 24/ECPII—A - 5 - - PT.0.



10.

11.

12.

1 1
fa2=y+z,y2=z+xand2® =2+, thenthevalue()fx+1+y+1+z+1 |

1S :

(A) xyz 1 B) x+y+2

(€) 2% + y% + 22 D) 1

a2 =y + 2 y2=z+xﬁ%1Tz2=3c+yﬁa 1 +‘ 1 * - % AE ¥
’ ! x+1 y+1 z+1

(A) xyz - B) x+y tz

©) %2 + y% + 22 . D 1

The value of cos 0 + cos 1 + cos 2 + ......... + cos 179 is :

&) -1 ® 1 |

(©) 0 - D) 2

cos 0 + cos 1 + cos 2 + ......... +cosl79.$1qﬁ%:

@A -1 - B) 1

© o . D) 2

When the angle of elevation of the sun increases from 30° to 60° the shadow

of a tree is diminished by 5 meter. Then the height of the tree is :
A) 53 B) 5J3/2

(C) 243/5 | D) 543/4

mqﬁmmm30°@60°€!W%aaﬁ3ﬁm5‘ﬁaﬂ‘@mﬁ%l
¥z F IE ¥ | o

(A) 543 (B) 5v3/2

(C) 2J3/5 (D) 5J3/4

TBC : 24/ECP/II—A 6



13. In a triangle ABC, D is midpoint of the side BC. If AC > AB and AE is

perpendicular on BC, thgn which one of the following relation holds ?
(A)‘ABz = AD2. — BCED + ;1—302 |
~ (B) AB? = AD? + BCED - ;BC?
(C). .ABZ = AD? + BC.ED + BC2
(D) AB? = AD? - BC.ED -%qu'

fi ABC #, D, 9o BC %1 77 fag ¥1 aft AC > AB ¥ AE, BC W &=l

¥ frmr 4 9 FIFE G, % ?

7y ABZ _ AD? _ BCED + ZB¢2'
(B) AB? = AD? + BCED - ZBC2| |
(C) AB? = AD? + BO.ED + BC2

._(D) ABZ = AD? - BC.ED - ZBCZ

TBC : 24/ECP/II—A 7 | P.T.O.



14. The length of two perpendicular chords of a circle are 2a and 2b respectively.
If distance of its points on intersection from the centre is c, then the radius

of circle is :

a? +b2+¢2 | a? -b% - ¢?
‘2 52 2 4 ' ' | az;l-bé+cz
(C) \/a +2+C (D) \/7 3 ,

@qaaﬁﬁmﬁ\mﬁaﬁmm 2aam2b%|€rﬁ'3=@f‘q"v®ﬁﬁ%
¥ &% F e %a‘r?ﬁﬁﬁm%

a2+b2+c2}, = a? — b2 -2
2712 .2 : , L 72 L .2
©) \/a +I; +c o D) \/a +I:)3 +c

15. The area of the region bounde,d'by the equations y = |x| — 1 and y=1- |x|

is :
@A) 2 | (B) 4
© 6 - (D) 8
THE y = |x| -1 My = 1 —|x| & g0 oG W & JA%d ¥
(A) 2 | ® 4

© 6 D) 8

TBC : 24/ECP/II—A 8



16. If n=7+43, then the value of \/ZJ;% o
n

A 3 | B) 243
©) 343 D) 4
i .n=.7+4~/§, LE} \/;4-711—1_'%1 qH R e
@ 3 . ® 25
(©) 343 D) 4

17. The height of the cylinder of maximum volume that can be inscribed in a sphere

of radius q ‘is :

A) ¢/3 . B) 2¢/+3

© o3 | . D) 4 .

SYHTH M et e S 6 B o 9 T o gen ¥, W S w®w ¥ 2
@) a/5 B 2/43 |

© a3 - o 4

18. The chance that a non-leap year selected at random will contain 53 Sundays,

is :

w2 o®

© 3 o 2

iR-arfyes § 53 MR agesar o & fraY s § 2
@ 2 | ® -

© 2 o 2

TBC : 24/ECP/II—A 9 P.T.O.



19. A 150 meter long train is running at 55 km/h. In what time will it pass a

man who is running at 10 km/h in the same direction in which the train is

going on ?
(A) 10 seconds (B) 12 seconds
(C) 14 seconds | (D) 16 seconds

150 HieX Tl YmEt 55 et /6. it =9ra @ 99 @ 2| fhaw g # 9% T A
ﬁ,sﬁﬁnom./@aﬁﬁr@ﬁmaﬁwﬁlaﬁﬁwﬁm@iw ?
(A) 10 9%vE | | (B) 12 LSEAES |
(,(\:) 14 e | (15) 16 Fvs

20. Out of 8 men and 5 women, a committee of 5 is to be formed. The number
of ‘ways i whish il S B dons &5 45 % ol & least 3. women, is :
A) 321 B) 322

~ (C) 323 D) 324

8 7oy q1 5 Hfwensl # ¥ TH T 5 AN B AR T ¥ FRa o @ o wh
I Thdl § i 390 w9 § wA 3 Higamd & ?
A) 321 - (B) 322

(C) 323 (D) 324

TBC : 24/ECP/II—A 10



21.

22.

The ‘probability that g boy pass an examination is 3/6 and that for a girl is

2/5. Then the probability that at least one of them passes the exam, is :
A) 1 (B) 2/3
(C) 19/25 : (D) 3/25

Th oS H T T Y F WA, 3/6 T T ASH! F 2/5 71 T KA Y HA

A ¥ AR uE D g o w oWl §

4) 1 (B) 273
(C) 19/25 | (D) 3/25

Two men A and B start together from the same point to walk around a 9 km
long circular path. A walks 5 km and'B walks 2 km an hour in the same direction.

Then they will meet first at starting point after :
(A) 4 h,our_s : (B) 5 hours
(C) 9 hours (D) 10 hours

QWqﬁawmaWAamB@mum@ﬁ—gmmmw
g1 A, 5 . e B, 2 R @mﬁwﬁwﬁaﬁ%uméa@mﬁﬁ
mﬁmﬁ@%aﬁﬁqﬁﬁ ?

(A) 4 To2 | (B) 5 U2

) 9 sw : D) 10 w2

TBC : 24/ECP/II—A | 11



93 OH | ame direction
 23. Two trains of equal length are running on puru1191 lines in the 8

at 45 km/h and 35 km/h. The faster train passes the slower train in 27 seconds.
The length of each train is :
" (A) 350 meter (B) 300 meter

(C) 250 meter ‘(D) 200 meter

TR o= R D TS TR F0F ¥ T R A wuw: 45 feyE. ao
85 ToFHll/sl. =t w17 @ =@ W ¥ A9 9en Al W O e Tl 1 # 27 JEve
ﬁmaﬂ?ﬁ%lﬁﬁmi‘aﬁ_mﬁ%:

(A4) 850 . (B)' 300 .

(©) 250 . . (D 200

24.. A certain number of men can complete a piece of work in 90 days. If there

are 8 men less, it would take 10 days more. The number of men originally

were :
A) 80" | " (B) 90
(©) 100 | D 110

@mamofaﬁ'ﬁ@ﬁrﬁéa#@qﬁmwm‘%mﬁmﬁS-WW
%,aas%loﬁawm_m-%laaaﬂmﬁaﬁﬁﬁiﬁﬁwzﬁ:

(A) 80 (B) 90

TBC : 24/ECPI—A 12



25. Consider the following statements :

(I) Centroid, incentre, circumcentre and orthocentre of equilateral triangle are.

co-incident.

(IT) Circumcentre and orthocentre of an obtuse angled triangle always lie inside

the triangle.

Then which one of the following is true ?

(A) Only (1) is true

(B) Only (II) is true

(C) Both (I) and (II) are true |

(D) Neither (I) nor (II) is true

P we W RER iR | | | .
@ WIE e & %%, aﬁr%a’ TR T AT TR &l
D) 5 o T, A B & S e @ s 3y §
@ Fe A Y A e T 0 |

(A) %aa (1) ¥4 §

(B) & (II) e ¥

(C) =H (D) 7o (1D) v ¥

D) F@ DR A& 1) v ¥

TBC : 24/ECPI—A 13 P.T.O.



- io 9 : 4, then the
26. If corresponding sides of two similar triangles are ™ the rati

ratio of its area ig -
‘(A)9:4 B) 3:2
(C) 81: 16 D) 27:8 |
R R T Bl ) i o 4 9 4 9 S F1 T T QA 7 AT
B ? | |
(A) 9:4 4 (B5 3:2
(C) 81: 16 - M) 27:8
27. The value oftan£+2tan2x+4tan4.x-!-8c0t 8x is :
(A) tan x - (B) secx |
(C) cot x L : D) 1/sin X
t_anx+2tan2x+~.4tan4x’+800t8xm"qﬁ%:
(A) tan x - (B) sec x
(C) cbt x - (D) lsin x
28. If 5 coé x + 12 sin x = 13, then the value of cos‘ecraic 1S :
(A) 12/5 (B) 13/12
(C) 512 B ,(D) 12/13
A< 5 cos « + 12 sin « = 13, 79 cosecx‘,#‘:ﬂ‘!% :
(A) 12/5 | A (B) 13/12
(€) 512 D) 12/13

TBC : 24/ECP/II—A 14



29. A rail road curve is to be laid out on a circle. What radius should be used

if the tr'ack is to change direction by 25° in a distance of 40 meter ?
(A) 91.64 meters . (B) 92.64 meters

(C) 93.64 meters | (D) 94.64 meters

T X9 U 99 R R 9% § §1 40 R wen § 25° fawm wger #, F o
W W AR SET 2

A) o164 W (B) 92.64 .

(C) 93.64 . (D) 94.64 H.

30. Iftwo circles with rgidiué ryandrg touch externally, then length of direct comron

tangent is :
Q) ryrg B) 2nn,
©) {rr, O 3ynn,

ry T r B a1 <t 99 e FY ¥ W BQ Y, 7@ T @ W wwRan
H dEE T |

(A) rqrg B) 2/nr,

(©) O 8

TBC : 24/ECP/II—A 15 | P.T.O.



~31. If A;, A, and Ag are the area of a parallelogram, a rhombus and a triangle
respectively standing on the same base and between the same parallels. Then
which one of the following is true ?
(&) A < Ay < A, B Ay > Ay > A,
(C) Ay = Ay = Aq - (D) Ay = Ay = 244
IR T SR e S T A1, AR S, S e s S

A Ay, Ag TN Ag B1 w9 Fre1 F @ FF wF ¥ 2

A A,l <,A2<A3. ._ B) Ay > Ay > Ay
C) Ay = Ay = A | D) A; = Ag = 244
32. Ifn eguidistant points A, AZ’ A,, ........ A, are taken on base BC of a triangle
ABC. If A{B = AlAé = AjAg = ............... ='A,C and area .of tri'angle

AAAg is k cm?. Then, area of triangle ABC is :

(A) nk cm? (B) (n + Dk cm?
(C) (n + 1)k/2 cm? (D) k cm? |
fimft Braw ABC % 38R BC R WM @ W n fig Ay, Ay, Ag, ... A, Tl
m?r%u?qﬁAlB;AlAZ:AzAs:. ............. .= A,C A A AAAg 1 SR &

A2 ¥ 99 AABC 1 &9%d ® ¢ |
(A) nk A2 B) (n + Dk Je2
©) (n + Dk/2 T2 (D) ka2

- TBC : 24/ECPII—A 16



33. In a row of girls facing North, Rinky is 10th to the left to Pinky who is 21st
from the right end. 1r Minky who is 17th from the left end and is fourth to
the right of Rinky, then the number of girls in the .row are :

(A) 37 ' . (B) 43

(C) 44 : D) 45
mﬁwaﬁmﬁgm@?ﬁmaﬁqﬁﬁﬁ e, fiwt & e ¥ 104 ¥
a‘rﬁs%%mﬁﬁzm’f%lwﬁﬁaﬁm@ 174t & won R ® o QA S
% R e W de @

(A) 37 o (B) 43

(C) 44 e D) 45

34. The functlon sin™ x. sm mx + cos™ x cos mx for x ¢ R haé maximum value
at:

(A) x = w4 when m = 2

(B) x = /4 when m = 4

(C) x = /4 when m = 6.

M x=m=n
Wsmm.xsinmx+c0smxcosmxﬂﬁ;,‘céR,wa'{ﬁ]a-‘mqqm;
(A)x=1r/4‘1?%7*lﬁm=2

B)x=nd REgTRIm=4

C) x=n/4 WR & m =6

D) x=n=n
TBC : 24/ECP/II—A 17 . PT.O. -



36. In the number series _
24676, 6144, 1636, 386. 96, 24
one number is wrong which is :
(A) 96
(B) 1536
(C) 6144
(D) 386
wem Jvit 24576, 6144, 1536, 386, 96, 24 § TH e T TR %
(A) 96
(B) 1536
(©) 6144
(D) 386
36. If moon is related to satellite, théﬁ in the same way as earth is related to:
(A) sun |
(B) solar system
(C) astroid
(D) planet _ -
af¢ moon, satellite ¥ Weiftg T aa T TE earth Fr ¥ J fraR Tafyg 2
(A) sun '
(B) solar system
(C) astroid R
(D) planet
* .TBC : 24/ECP/1I—A 18



37.

Read the following information carefully and answer question Nos. 37-38 given
below :

@  Ram, Shyam,lMohan, Hari, Tulsi, Ravi and Kirti are playing cards sitting
around a circular table.

() Hari is not neighbour of Mohan or Tulsi.

(i) Ram is neighbour of -Shyam and Mohan. |

(tv) Kirti who is second to theileft of Hari, is the neighbour of Tulsi and Ravi.

Therhpexams.in

= = = meﬁﬁm(m—%)a}wﬁm

@) W»W,Tﬂﬁ,ﬁﬂ,w,rﬁamﬁﬁvhﬁ@mﬁﬁﬁamam%\%
g, T % W™ o ® T |

() w0, A s qeRh o W ¥
(i) T, T 9 WET % e g1 -
Gv) FT S FF &0 & o ¥ g €, gl T W A R T

Which one of the following is correct ?

_(A)- Shyam is between Ram and Hari
" 4B) Hari is between Ravi and Kirti

¢0) Tulsi is to the immediate right to Kirti
(D) Rav1 1s to the 1mmed1ate left to Kirti

.....

mwmmm@%mﬁ%
®) &, T o B B A
(C) qaelt, Ffd & qe=1 qeff WH ¢
(D) T, Ff B qod A W

TBC : 24/ECP/II—A 19 - P.T.O.



38.

39.

40.

Which of the following has the pair with the second person sitting on the

immediate right of the first person ?

(A) Shyam and Hari (B) Kirti and Ravi

(C) Tulsi and Mohan (D) Ram and Tulsi
ﬁwﬁﬁaﬁwg&w,ﬁ;ﬁmaﬁa,umwﬁﬁ%gﬁmﬁwhi%-?
(A) W a9« & (B) Wi @& 4

(C) qost ar e - ‘(D)mamgmﬁ

'Which one of the following is true ?

(A) 41/3 > 5]/4 > 2]/2 S 31/6

(B) 51/4 S 41/3 S 31/6 > 21/2~ '

(C) 21/2 '>_31/6 S 4]/3 > 51/4
D) 63 > 514 5 4U3 5 912
fre & § Fw w9 T ¥ 2
(A) 413 5 5U4 5 912 5 U6
(B) 5V4 5> 413 > gl6 5 gli2
©) 2V2 > 316 5 413 5 gl
D) 63 > 5V4 > 413 5. gV2

Two numbers are respectively 20% and 50% of the third number. What percent

is the first number of the second ?.

(A) 5% o (B) 10%

(©) 25% . | D) 40%

Q weart frdt dEd e W A 20% q€1 50% ¥ VHW Wem, qEd §edm &
fopct wfwm ¥ 2

@ 5% (B) 10%

(C) 25% (D) 40%

TBC : 24/ECP/II—A 90



41.

In what time, will the simple interest be 2/5 of the principal at 8 percent per

annum ?
(A) 5 years (B) 6 years
(C) 7 years (D) 8 years

§ Wi F s w §, feay T § WHRY AN, Y F2/6 q ST 2

(A) 5 =Y (B) 6 =d
©71w @) 8 | |
49, (324 x 150 = 54, 251 x 402 = 48 and 523 x 246 = 120, then in the same
way, the value of 651 x 345 is
(A) 60 L ® &
() 120 | (M 144 |
ok 324 x 150 = 54, 251 402 = 48 T 523 x 246 - 120, T T ai'a‘ﬁ
651 x 345 1 AH ¥ : |
(A) 60 | - ® 85
(©) d20- | ® 144
43. Which is-the odd one seqﬁem__:é of the letters from the given alternatives ?
(A) AYBZ _(B) BXCY
(C) DVEW ' (D> MPON
R sl o o S 2
(4) AYBZ =~ . (B) BXCY
(C) DVEW @) MPON
TBC : 24/ECP/II_A 21

P.T.O.



44. A statement is followed by the two statements (I) and (ID).

“One should not sleep under a tree.”

Statements :

(I) The falling leaves may spoil our clothes.

(II) Trees give out CO, at night which is injurious to health:

Which one of the four given choices is correct ? |

(A) Only (I) is implicit (B) Only (II) is implicit

(C) Both (I) and (I) are implicit (D) Neither (I) nor (II) is implicit
D F (D Fe (1D, 9 Fom W amenfa R |

N W el 1 B s A

YT ' |

D Freft g8 ofeel =R+ = F ol S0

(ID ¥ W@ # CO, 37 ¥ W 5 @i & fa wbERE ¥

T = § | s fawer w@ ¥ 2 '

(A) Fad (D) swfifeq & (B) aw (I) st &

(C) <Fi () 9o (ID) sW=ififed 8 (D) T @ (D 3R T & (D) s=fea ©

45. Five men A, B, C, D and E read a neWspaper. The one who reads first give

. it to ' C, the one who reads last had taken it from A. E was not the first or

last to read. There were two readers between B and A. The person who reads
the newspaper last is : .
@A) A | - ® T
C) E ® D
gfg aeH A, B, C, D @1 E T& THER-IH. Tgd B | S Ugel Ugal & o8 38 C =
3 %, RS o A Ued € 9% T A ¥ A1 1 E Teaw IR nfaw wey aren el
Tl BamA_%’aﬂaﬁa‘r%ﬁaﬁ%l 3 H U aen R ¥ ;-
@A A ® B
(C) E D) D

TBC : 24/ECP/II—A 22
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46. A man’s working hours in a day were increased 20% and his wages per hour

were increased by 15%. Then his daily earning is increased by :
(A) 28% | B) 38%

©€) 35% . | | D) 40%
@aﬁa%ﬁ?ﬁmwmaﬁﬁm%aﬁa@ﬁﬁm%ﬁnmﬁm |
15%9ﬁm3¢lﬁm‘w%laﬁmﬁwﬁlﬁﬁﬁmmﬂﬁ% ?
(A) 28% | L ® 8%

(©) 35% D) 40%

17.. {n a certain cpde, COMPATIBLE is written as‘ BQNPDDKAHS How is

STABILISED written in that code ?
(A) JCBUTEDTHM | (B) JCBUTCDRHK
~ (C) JCBUTEFTIM 7 (D) TUBCJCDRHK

& fify=a #e 4, COMPATIBLE %! BQNPDDKAHS fefen s &1 &t |1 &,
STER STABILISED #1 1 # @ frweh fog femsd 2

(A) JCBUTEDTHM (B) JCBUTCDRHK -

(C) JCBUTEFTJM (D) TUBCJCDRHK

TBC : 24/ECP/I—A o 23 - P.T.0.



48. Which year will have the same calendar as that 1991 ?

(A) 2001 (B) 2003
(C) 2006 | (D) 2010
1991 = & Jwr few av @ da AW 2

(4) 2001 | (B) 2003
(C) 2006 | (D) 2010

49. At what angle is the two hands of a clock inclined at 9 hours 45 minutes ?

1’ : 1"
@A) 221 1

> | ® 233 /
©) 241 | D) 25 L)

2 | ) g

9 HU2. 45 fiFie W wEt it § gedl & 9 F BT R E ?

v o -
- (A) 222 | (B) 23§

1 o 1
© 245 , @) 255

50. A cyclist rides 24 km at 16 km/h speed and further 36 km at 15 km/h speed.
His average speed for the journey is :
(A) 15.28 km/h (B) 15.38 km/h
(©) 155 kmh | (D) 16.38 km/h
% UEfRe WaR 24 fe., 16 fEft/A. #t 9@ ¥ IR oM 36 fRHL, 15 R/
F = ¥ g &) aen # Suwt ofa = F et ?
(A) .15.28. Wﬂ/pq | (B) 16.38 fHt./=.
(0) 15.5 fet./s. | D) 16.38 FFeft./d.

. TBC : 24/ECPII—A . 2



- 52,

'51_ If the population of a city at present is 10648 and the rate of increment is

10% per year, the population before 3 years was :

(A) 10,000 (B) 9,000

(©) 8,000 ) 7,000

qﬁ@waﬁaﬁmm 10648 ¥ 3R 10% Ht T ¥ fd 79 FEH ¥, 7@ =
9 Tedl SFEE o

(A) 10,000 O ® 9000

() 8,000 D) 17,000

There are two candidates Bansi and Pappu. During the campaign 40% of the
voters promised to vote Bansi and rest for Pappu. However, on the day of election
15% of the voters went back on their promise to vote Bansi and instead voted

for Pappu. 25% of the voters went back to their promise to vote Pappu mstead

voted for Bansi. Suppose Bansi lost by 2 votes, then the total number of voters
is :

(A) 90 (B) 95

(C) 100 D) 110

FEt qo1 7oy < IFAKER | FER & QKA 40% FAEmISh ¥ S6 ® A 3 FT GwE
mmaégq%vqamwﬁﬁmaméfmw%waﬁmm%m
mahahzﬁquﬁwaﬂzzs%mahﬁwﬁaﬁzﬁWWaﬁmn
U S 2 A | R N, 99 R/ AemRl $ ST ¢

4) 90 - (B) 95

(C) 100 D) 110

TBC : 24/ECP/II—A 25 P.T.O.



53. A shopkeeper bought 27 tables for Rs. 5,940 and sold them at a gain equal

to the selling price of 5 tables. Then his gain percentage is :

8 , 8 4
(A) 211—1% (B) 24 11 /)
© 2234 D) 20—8—%

11" o | 11

TF THFER ¥ 27 B 5,940 % ﬁaﬂﬁawﬁsﬁa%ﬁmﬂﬂﬁwm
mammawwmuﬁma%

8. 8

= - 4—%
(A) 21 11% | (B) 2 11 .o

8 - | 8

= =9
(C) 22 11%_ S D) 20 1%

54. 5 skilled workers can build a home in 20 days, 8 semiskilled wbrkers can build
the same home in 25 days and 10 unskilled workers can build the same home
in 30 days. A team of 2 skilled, 6 semiskilled and 5 unskilled workers will build

the same home in :
(A) 20 days' - (B 18 days
(C) 16 days - - (D) 15 days

5uﬁfmm@wﬁzoﬁ?ﬁwm% saqsimmmmgmw
aﬁzsﬁ?ﬁwm%aﬂn10wﬁfmm3ﬁmaﬁ‘3oﬁqﬁwm

%1 2 il 6 sr-aRiiae qen 5 s FRRE W T Ol s@ W = e
fell # s 2 |

(A) 20 f@ (B) 18 f&

© 186fw D) 15 fm

TBC : 24/ECP/TI—A 26



55. The price of an article is raised by 30% and then'two successive discounts of

06.

10% each are allowed. Ultimately the price of article is :

(A) increased by 10% | |

(B) increased by 5%“

(C) increased by 5.3%

(D) increased by 4.3% | |

TF T T 30% w91 T e qen < @R 10% B GE ] @ W -okw: O
S HEG

(A) 10% =% rri

(B) 5% =g it

(C) 5.3% =g <t

D) 4.3% =g Swft

The nﬁrﬁbers; both ’greatel" than 29, have HCF 29. énd LCM 4147. The sum
of numbers is: |

(A) 696 4 . - (B) ‘699

(©) 729 o - (D) 1749

Qe @ 20 ¥ R ¥, P AAL AN AW FA: 20 0 4147 §, T
vemt w AT Y : | |
'(A). 696 (B) 699

(C) 729 (D) 749

TBC : 24/ECP/II—A 27 | P.T.O.



57. Tllxe’average of first three numbers is thrice the fourth number. If the average

of all the four numbers is 5. then the fourth numker is .
W) 2 (B) 4
(C) 45 “ _ D) 5 | |
el i et v, Sef e w1 A TN 1 Ak W W Fmedt ¢ v
5% W -q*rzﬁ;iécn T
&) 2 . @ 4
(C) 45 | D 5
58, A family has a mah, h1s wife, their 4 sons and their wives. The family of every

son also have three sons and one daughter each. The total number of male

members is :

A) 4 | (B) 6

©) iz | @) 17
mmﬁaﬂﬁ@m,mﬁﬁaw4gﬂawmvﬁﬁ%imgmvﬁaﬂ
mﬁﬁagwawwgﬁ%laﬁw‘w#mmﬁ%:

'(,A).4 B) 6 |

) 12 ‘ D) 17

TBC : 24/ECP/II—A | 28



Read the following information carefully and answer question Nog. 59 to 62

given below :

() A + B means A is the father of ‘B.
(@) A — B means A is the wife of B.
((27) A_ x B means A is the brother of B
() A + B means A is the daughter of B. ._
ﬁmwﬂlaﬁ HFES el v &Y e (59 F 62) F IW e -
@ A+ B ad, A B ® fmr
) A-B aqaf,A,Baﬁﬁéu_
(iii)Ax.B:m g, A, B &1 vni%f |
@) A + B %1 &1k, A, B % T %
59. If P + R + 8 + Q, which of the fqllowiné is true ?
A P 1s the daﬁghter of Q . N (B) Q is the aunt of P
!:G')' P is t_hé aﬁnt of Q : " M) Pis the mother of Q |
qﬁ'P+R+S+Q,ﬁHﬁﬁﬁ§_ﬂﬁ'—lﬂT_'W%.?
(A) P, Q % T & ®) Q P W ¥

© P, Q=W ¥ D) P, Q ®! W ¥
TBC : 24/ECP/II—A 29 | P.T.O.



60). D,
IfP xR . Q, which of the following is tru€ ?

(A) P is the uncle of Q (B) P is the brother of Q
(Y P is the son of Q (@) P is the father of Q
AP xR+ Q aa fror § 4 v o el T 7

(A) P, Q %1 = ¥ B) P, Q F TE T
C)P,Q&H I ¥ @) P, Q F for ¥

61. If P — R +Q, which one of the following is true ?

(%) P is the mother of Q' (B) P is the niece of Q
(C) P is the sister of Q ©) P is the aunt of Q

vﬁP—R+Q,aaﬁw-ﬁ-ﬁ-ﬁmﬁmm%?

(A) P, Q ®t AW & (B) P, Q FI s §
(C) P,Qﬁaz#% D P;Qﬁaﬁ’r%
9 5 W | |

62. If P x R — Q, which one of the following is true ?
A) P ié the son-in-law of Q (B> P is the brbthel;-in-law of Q
(C) P is the father-in-law of Q (D) P is the .sistef-in—law of Q
uﬁPxR—Q,mﬁﬂﬁﬁﬁjﬁmw%? |
(A) P, Q 1 §A-31-°1 & (B) P, Q ® w-3-e T

(C) P, Q 1 HGL-FH-° ¥ D) P, Q # fret-gt-=n &
TBC : 24/ECP/II—A 30



63.

A solid cuboid has been colored Black on two of its opposite sides, Red on the
two other opposite sides and Green on remaining two opposite sides. It is then
cut into 72 cubes in such a manner that the 64 cubes are smaller and the
remaining 8 cubes are bigger in size. The bigger cubes should not have any
of their surfaces colored Black. Now, answer the following questions (63-69)

based on this solid cube rela_ted. information :

T W T QA el o B r’n’ﬁr’nﬁnﬁ%aw’{qﬁfaﬁawm

mﬁamaa’ra’rﬁmmgamﬁvﬁ%laasﬁnzm’rﬁsammw

%ﬁmmaﬁ%ﬁ'@saﬁ%mma@mmﬁéeﬂwmmﬁ
aﬁw@maﬂ%m m,m(ss-ss)'mwaﬁvmmamrﬁawma‘lﬁq:

How many cubes are there which have at least one of their surfaces colored

Red ?
A) 16 | . ® 32
- (©) 40 ' | (D) 64

@WW%WW@W@WNW%7
(A) 16 (B) 32

©) 40 D) 64

TBC : 24/ECP/TI—A | 31 | - PTO.



. ?
64. How many cubes are there which have only one of their faces colored ?
A) 8 B) 10
(C) 16 | (D) 24

@WW%WW.@WE?%H%?

A) 8 ' B) 10
©) 16 , | D) 24
65.} How mﬁny ‘cubes are there which have three of their faces colored ?
A) 2 | ‘ ‘ (B)' 4
© 8 a o D) 12

W o T E R 3 T @ R 9

@2 B) 4
©) 8 D) 12

66. How many cubes are there which do not have any color on any of theijr surface ?
L ®) 16
@mﬁm%fﬂmmaﬂwmqﬁ% )
(A) 4 o _—
) 12 ®) 16

TBC : 24/ECP/II—a



67. How many cubes are there which have at least one of their surface colored

68.

69.

Green ?

A) 16 - (B) 30

(©) 32 D) 40

W A W E R ww @ 9 T TS w0 R ?
(A) 16 (B) 30

(C) 32 - (D) 40

How many cubes are there which have at least one surface colored Red and

opposite surface colored Green ?

A) 0 L ® 2

©) 4 | D) 8
@ﬁmﬁm%ﬁﬁmﬁqu&xwh%ﬂmﬁqﬁawmﬁn% ?
A) 0 o (B) 2 |

) 4 - | D) 8

How many cubes are there which have two of their adjacent surfaces colored

Red and Green (considering only two sides) ?

@s - ®) 16
(C) 24 D) 32
W@ frat s € o QAo 78 o e R W E (P A A E) 2
(A) 8 (B) 16
(C) 24 | (D) 32

TBC : 24/ECP/II—A . 33 " P.T.O.



70. The missing term'in 'the following figure is :

9 13 | 12

19 | 10| 5

g | ? |11

A) 9 | (B) .15
©) 13 @ 11

e e e e s w E 2

| [o [ 13 [ 12

19 | 10| 5
18 ||

@s | B 15
© 13 o | @) 11

71. The radius of the base of a cone be doubled and helght is left unchanged, then

the ratio of the volume of the new. cone and the original cone js -

e . C® 2:1

!
(A)4:1‘ B) 2:1

€ 1:2 D 4:9

TBC : 24/ECP/I—A 4



72. How many rectangles are there in the given figure..?

(A) 8 ® 9
© 10 o u
2 @ ™ A e e ¥ 2 |

- (A) 8 B) 9
© 10 - o 1
73. The area of shaded region in the given figure is :

c [€%
(4) ma%/2 - C® dr-1
©) a2 @2 -1 ‘D). -2

R i T e 2
N\
[T

A) a2/2 | B) a2 (1 - 1)

©) a2 (W2 - 1) D) a2 - 1)/2

TBC : 24/ECP/II—A 35 - PTO.



74. In an examination, 65% of the students passed in Mathematics, 48% passed

in Physics and 30% passed in'both. How much percenb of the students failed
in both the subjects ?

(4) 83 | ®) 43

© 13 S 17
@uﬁmﬁ,nﬁmﬁﬁs%ﬁmﬁﬁﬂf?, Hfter fom & 48% e 30% A &
wanﬁﬁaﬁﬁaﬁﬁ@ﬁaﬁfﬁm%: -
(A) 83 | (B) 43

© 13 - :(D) 17

75. The price of sugar rises by 25%. If a family wants to keep their expenses on

sugar the same as 'e‘eAtrlier, ‘the f..amily‘ Wili haye to decrease its consumption
on sugar b& : |

(A) 25% | B 20%

() 5% | ©) 50%
aﬁﬁﬁm%%wmﬁ%laﬁ@vﬁwaﬁmmﬁaﬁﬁmm
%mm%mm'mmmﬁﬁﬁ'wﬁmﬁm'mﬁaﬁ?
(A) 25% | . (B) 20% o
© 5% o 509

TBC : 24/ECP/II—A 36



1 1 1 111 . _q

l— 4= e =8 and 14= 4=+ =+ =5 ’

76 If 2+3 5 =8, and 1+2+3+4+ 2, then
(A) S1=land Sz:l

(B) S; =1 and Sz=log2 ‘

© S,

log 2 and S, does not exist

(D),Sl=10'g2‘a'nd Sz.=_ 1 -

11 1 ° ' 171 1 :
-t om = =8, O L4t o, = :
Ife Zta 1 » =S, qu 1+2+3+4+ S,, @ :

(A) S; =17MS, = 1

(B) S; = 1 @ Sy = log 2

- (©) 84 log‘/2l ﬁEIT S, s # i %

(D) 8y = log 2 T S, = 1

'TBC : 24/ECP/II—A o 37 | "~ P.T.0.



6 lectures are scheduled in a weék starting from Monday and ending on Sunday
of the same week. Computer Science is not on Tuesday or Saturday. Psychology
1s immediate after. Organizational Behaviour. Statistics is not on Friday 'ancli.'
there is one day gap between Statistips and Research Methods. Qne day priqr
to the schedule of Ecbnomics, there is no lecture (as that day is Off day
and Monday is not the Off day). Basqd on thls information, answer the

questions 77-80 :

Wﬁ‘g@ﬁmrﬁaﬂ%m‘aﬁmﬁmﬁ 6 =mem frulfa € ‘m’w@f
TS h1 HIER 2@ NHER S T8 51 FfeRm & siiageRma fSefR & @
9 ¥ Wi w1 YR W aen wiewt wn fod dueg & 9§ T
& =1 fowm 7 aﬁw%ﬁuﬁam%@ﬁﬁ%ﬁ,ﬁéwﬁ%l €
3 f ® aun WieR aﬂmﬁﬂﬁ%)laﬂs‘w% YR W T (77-80) &
I S |

" 77. Which ¢f the following is the last lecture scheduled ?

&) Boopowles (B) Research Methods

(C) Psydhology P) Statistics

weq o o fruiRa sarem S ¥ 2

(A) YA - | B) & A

(C) T : (D) Hrﬁ@qﬁ
TBd . 24/ECR/MII—A 38



78. Which lecture is scheduled on Friday ?

(A) Psychology (B) Research Methods
(C) Computer Science (D) Economics

T R e 2

(A) TAIfaEH - B) fed Aoy

(C) R W (D) A

79. How many lectures are scheduled between Economics and Psychology ?

\

‘(_A) 1 _ B) 2
© 3 __ o 4
.aiﬁ?mamﬂﬁﬁaﬁéaﬁamﬁmﬁufﬁa% ?
@& 1 - ® 2
C) 3 - D) 4

80. Which day is Computer Science scheduled ?
(A) Monday ~ _(® Thursday
(C). Tuesday | (D) Sunday

X W e fgm fuifa § 2

(A) 99aR (B) TEER
(C) WeER * D) MR
TBC : 24/ECP/TI—A 39

P.T.O.



stions 81 to 85 .
Read the following passage carefully and answer the que

Intra-Sectoral trade arises in order to take advantage of important economieg
of scale in production. Infact, international competition forces ‘each company
or firm in industrially rich countries to -prod'uce only one, or at the most 5
few; varieties and styles of the same product rather than numerous different
varieties and styles. This is essential in keeping unit costs 10W. With fewer
varieties and style;, more specific and effective machinery can be developed
for a con;:inupus opera,ﬁon and a lbnger prodgctiop run. The nation then imports
others varieties and styles from other nations. Intra-industrv trade 1s beneficial

for the consumers due to wider range of choices, i.e. the better variety of

products within each brogad industrial classification

TBC : 24/ECP/II—A 20



g1. The impact of Internationg] competition on Intra-Sectoral trade can be visible

in :

(A) Restricted advantages of production

(B) Undesirable effect on Industrial Production
(C) Availability of wider varieties of products

(D) Limited varieties of the same products
82. Lower produc‘F price means :
(A) Dearth of Choice
B) Continilalh production run
(C) An increase iﬁ Trade information Exéhange
(D) Increased Consumer purchasing power
83. Use Aof Specialised Machinery and Dew;elopment shall lead .to :
(A [mport of varieties of products =~
'(B) Hindered intra-industry trade
(C) Decreased Consumer Welfare

(D) More varieties of products

TBC : 24/ECP/II—A 41 : P.T.O.



‘ ' - ] to :
84. Removal of barriers to the flow of trade In European Union led t
(A) Emphasis on differentiated products
(B) Slow Intra-Industry Trade

(C) Flow of Union Products

(D) Surge in volume of trade among member states

.85. Synonym of the word ‘noticeable’ is :

(&) Unobtrusive
(B) Perceptible
. (C) Friendliness

(D) Detrimental

86. In communication process, body langilage is associated with :

(A} Subject taught (B) Escapism

(C) Culture (D) Implicit

87.

Non-verbal communication is mostly :

A) Unstructured (B) Automated

(C) Prearranged (D) Structured:

TBC : 24/ECP/II—A | 42



88. In communication, chatting on the Internet is refeljréd to as what type of

communication ?

(A) Speitial communication‘
(B) Tactile communication
(C) Parallel comfnunication

(D) Grapevine communhication

89. Which of the following is/are barrier(s) to effective communication ?

(AJ Physical noise, psychologicél noise
(B) Active listening
(C) Colour, sports
(D) Gender
90. In communication; interpfetation of the message depénds upon :
(&) The context
(B) Transmission spee& .
(C) Channel inefficiency

(D) Associated noise

TBC : 24/ECP/II—A 43 | P.T.O.



91. Select the incorrectly spelt word ;
(A) Anxiety
(B) Benefited
(C). Peity
(D) Mercenary
92. Select the word opposite in meaning to the given word ‘Gregarious’.
~ (A) reclusive
(B) extrovert
V(C) assertive
(D) amiable
93. Select the word qpposite in meaning to ‘ﬁemulous’.
S - Tl
(A) qu'.averingls
(B) wobbly
(C) shaky

(D) steady



94. Choosé the one-word substitute for the following description :
‘Solé right to make and sell one’s own invention’
‘(A) paten | (B) patron
(Cr patent N y (D) patine

95. .Choose the one-word substitute for the following description :
‘one who devotes himself to pieasure’ '
(A) demdnist ' | | . (B) hedonist |
(C) affluent. (D) c..'monist

In questions 96-100 four options are given for the underlined idiom/phrase. Choose

the option which best expresses the meaning of the idiom/phrase.
96. 'Ajay 1s always }.ready to._ MMa_lt. | |

(A) to eat tasty dishes V‘. (B) ’po be one’s guést

©) to cook tasty dishé_s o (D) to take resppnsibility |

97. They decided to bury the hatchet.

(&) to maintain a secret (B) to bury the treasure
(C) to bury the bucket (D) to make peace
TBC : 24/ECP/II—A 45 ‘ P.T.O.



98. The police kicked up ’é\'vrow over the issue:

t fuss
(A) kicked in the air | (B made a grea

”
(C) avoided the issue (D) have been waiting

99. The néw project w‘as strewn with problems and the techmca_l glitch was only

the tip of the iceberg.

(&) only a small part of the main problem
- (B ‘unsolved'prob.lem

(©) lipgeréd problem’

(D) not a pfobfem

100. Ajay has the habit of working by fits and starts.

(A) inconsistently
(B) eXcitedly
(C) seriously .

: (D) with focus

TBC : 24/ECP/II—A 46



